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	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	A  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81256

	2
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109493

	3
	A  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81253

	4
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109488

	5
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D62461

	6
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109497

	7
	C  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81366

	8
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D82977

	9
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109487

	10
	D  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D82982
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Biology 3rd 9 weeks The History of Life Jan 16, 2012
	Question 1 of 10

	Which of the following shows the correct order of plant classification groupings from largest to smallest?

	 
	 
	 
	 
	 

	[image: image1.wmf]  
	A.
	kingdom, division, class, order, family, genus, species

	[image: image2.wmf]  
	B.
	kingdom, division, order, class, family, species, genus

	[image: image3.wmf]  
	C.
	kingdom, phylum, class, family, order, genus, species

	[image: image4.wmf]  
	D.
	kingdom, phylum, class, order, family, genus, species

	 


	Question 2 of 10

	Australia is home to several species that are not found on other continents. 

Why are these species only found in Australia?

	 
	 
	 
	 
	 

	[image: image5.wmf]  
	A.
	Ecological competition does not drive natural selection pressures in Australian habitats.

	[image: image6.wmf]  
	B.
	Genetic mutations occur more often in Australian species than in species indigenous to other continents.

	[image: image7.wmf]  
	C.
	Geographical isolation made it impossible for many Australian species to relocate to vacant niches on other continents.

	[image: image8.wmf]  
	D.
	Species introduced from other continents quickly adapted to conditions in Australian habitats. 

	 


	Question 3 of 10

	Look at the following key. 
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What is the genus and species name of the organism shown above? 

	 
	 
	 
	 
	 

	[image: image10.wmf]  
	A.
	Aix sponsa

	[image: image11.wmf]  
	B.
	Buteo jamaicensis

	[image: image12.wmf]  
	C.
	Corvus brachyrhynchos

	[image: image13.wmf]  
	D.
	Larus argentataus

	 


	Question 4 of 10

	New species can emerge when organisms must adapt to new conditions. 

Which of the following is not likely to cause a new species to emerge from an existing species?
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	A.
	seasonal variations in temperature and precipitation

	[image: image15.wmf]  
	B.
	relocation to a new habitat

	[image: image16.wmf]  
	C.
	a drastic change in climate patterns

	[image: image17.wmf]  
	D.
	changes in the types of food available in a habitat

	 


	Question 5 of 10

	Jackie has a registered female Labrador retriever. He keeps her in the yard, but one day she gets out of the yard. She returns home three weeks later. Six weeks after that, she has a litter of puppies. None of the pups looks like a labrador. The puppies were conceived as a result of

	 
	 
	 
	 
	 

	[image: image18.wmf]  
	A.
	mitosis

	[image: image19.wmf]  
	B.
	natural selection

	[image: image20.wmf]  
	C.
	selective breeding

	[image: image21.wmf]  
	D.
	asexual reproduction

	 


	Question 6 of 10

	Which of these is a direct measure of the fitness of a population for life in their habitat niche?

	 
	 
	 
	 
	 

	[image: image22.wmf]  
	A.
	the total number of healthy offspring produced each year

	[image: image23.wmf]  
	B.
	the type of predators living in the habitat

	[image: image24.wmf]  
	C.
	size variations among individuals

	[image: image25.wmf]  
	D.
	presence of genetic mutations in individuals

	 


	Question 7 of 10

	Look carefully at this picture. 

[image: image26.png]



Use the dichotomous key to identify the organism shown. 
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	[image: image28.wmf]  
	A.
	Tadarida brasiliensis 

	[image: image29.wmf]  
	B.
	Felis concolor 

	[image: image30.wmf]  
	C.
	Mephitis mephitis 

	[image: image31.wmf]  
	D.
	Spermophilus variegatus 

	 


	Question 8 of 10

	Use the chart to answer the following question. 

Which two flowering plants are most closely related? 
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	A.
	Easter Lily and Tiger Lily

	[image: image34.wmf]  
	B.
	Tiger Lily and Daffodil

	[image: image35.wmf]  
	C.
	Daffodil and Belladonna Lily

	[image: image36.wmf]  
	D.
	Belladonna Lily and Easter Lily

	 


	Question 9 of 10

	Which of the following are most likely to cause a new species to emerge from an existing species?
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	A.
	photosynthesis and cellular respiration

	[image: image38.wmf]  
	B.
	genetic variation and reproductive isolation

	[image: image39.wmf]  
	C.
	contamination and biological magnification
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	D.
	solar radiation and biogeochemical cycles

	 


	Question 10 of 10

	Use the chart to answer the following question. 
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Which two organisms are most closely related?
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	A.
	spider and butterfly

	[image: image43.wmf]  
	B.
	horseshoe crab and spider

	[image: image44.wmf]  
	C.
	grasshopper and horseshoe crab

	[image: image45.wmf]  
	D.
	butterfly and grasshopper
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